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Kinematics Worksheet #1
· State the given and needed information (vi, vf, d, t, a).

· Find formula in reference table that contains all the knowns with the exception of the one unknown you need.

· Rearrange the equation to solve for the unknown.

· Plug in data including units.

· Show final answer with units.

1. A car in front of the school goes from rest to 27 m/s in 3.0 seconds. What is its acceleration (assuming it is constant)?

2. A rocket starts from rest and accelerates at a uniform rate of 190 m/s2 for 

2.4 seconds.  What is its final velocity?

3. A car has a velocity of 15 m/s. It then accelerates at a uniform rate of 3.5 m/s2 for the next 5.0 seconds. What distance does the car cover during this time? 

4. What distance is required for a train to stop if its initial velocity is 23 m/s and its deceleration is 0.25 m/s2?  (Assume the train decelerates at a constant rate.)
5. What distance will a car cover while uniformly accelerating from12 m/s to 26 m/s in 14 seconds?  
6. A person starts at rest and accelerates at a uniform rate of at 3.2 m/s2 for 3.0 seconds. What distance does this person cover in that time?

7. What must be the acceleration of a train in order for it to stop from 12 m/s in a distance of 541 m?  (Assume the train accelerates uniformly.) 

8. A car will skid to a halt at a uniform rate of -9.4 m/s2. If you measure skid marks that are 34 m long, with what speed was the car going just before the driver slammed the brakes?

9. An airplane touches down at a speed of 55.0 m/s on a runway that is 600. m long.  The plane can decelerate at a uniform rate of 2.50 m/s2.  Will the plane be able to stop before the end of the runway?

10. A cyclist is riding along at a constant velocity of 15 m/s.  He then accelerates at a uniform rate of 0.50 m/s2 over a distance of 64 m.  How long did he accelerate for?
11. When a driver hits the brakes, his car decelerates at a uniform rate of 2.0 m/s.  His car stops in 9.0 m.  How long does it take him to stop?
12. A train can speed up at a uniform rate of 0.15 m/s2. In what minimum distance can it attain a speed of 25 m/s if it is starting from rest?

13. A drag racer can reach a speed of 53 m/s over a distance of 120 m.  Over what distance can it reach a speed of 85 m/s?

